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20 0 20 Olowds] iy Saslasiwl sbyodl 5,65 Sicw Wl Lo
17, 9 8 OMS iy Saslasiwl sbyodl 3,50 Sicw wlsluo
7 0 7 Oliw,) iy Saslasiwl sbyodl 5,50 Sicw wlasluo
24 4 20 0,250 iy Sdslagiwl sbyodl 83,90 Sivw wliyluw
27 13 14 S3S 0 iy Sdslagiwl sbyodl 3,90 Siw wliyluw
36 12 24 Ul850,0 iy Sdslagiwl sbyodl 3,80 Siw wliyluw
44 16 28 Oloos iy Slaslasiwl sbodl 3,80 Sicw Lo
1 0 1 ulpaol VYL )50 529 ol s,e0 Sicw wlasluwo
2 0 2 Ol yp5 UYL )50 529 o> 3,90 Sicw wlayluwo
1 0 1 Sgo, Ulwly> UYL )5 529 ol Ssy90 Sicw wlasluwo
1 0 1 Oliw;g>] VLS50 29 ol S350 Siw wliluo
6 3 3 ol OV, 50 29 ol S5)850 Siw wliluo
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10 3 7 Ulpsol Ollg>gi ,x8 pl> S5,95 Sicw wlisluwo
1 1 0 sl Ollg>gi ,%8 pl> Ss,95 Sicw wlisbuwo
9 4 5 Py Ollg>gi %9 pl> 3,95 Siw wlasluwo
41 22 19 Olypi Ollg=g5 ;=8 pl> 3,90 Siw Wil
1 1 0 S, lize 9 Jlo,lp Ollg>gi ;=0 pl> S>,99 Sicw wlasluwo
16 3 13 Sgo, Ulwly> Ollg>gi ,x9 pl> 3,90 Siw wlsyluw
8 5 3 oo wlwly> Ollg>g5 ,=9 pl> 3,9 Siw wliyluw
15 7 8 Oliw;gs Ollg=>gi ,x8 pl> S3,95 Sicw wlisluwo
21 9 12 ol Ollg=>gi ,28 pl> S3y85 Sicw wlisLuso
4 3 1 Ul ¢ Uliwuw Ollg>gi ,%8 pl> Ss,95 Sicw wlisbuwo
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10 2 8 o038 Ollg=gr ,28 pl> 3,85 S wlislno
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19 15 4 Seo, Ulwly> WVpisi 29 ol 55,8 Sow wliluo




Ogaml )35 buwgi 0335 135 p1 Olisbus o)1 58
g bl
Y
23S &S pb s Ol SuSE 4 Olislus glgil Cumidy
11 9 2 lows ulwl,s OVlpigi ,x8 pl> 3,00 Sicw Wiyl
14 7 7 Oliw;jes OYlpigi ;=8 pl> 3,00 Sicw Wiyl
14 6 8 Ol OVlpigi y=9 pl> 3,90 Siw wliyluwo
9 2 7 ouyld WVpisi ;29 ol 3,8 Siow wliyluo
11 4 7 959 OVpigi =8 pl> 83,90 Siow wlisluwo
6 1 5 Olows,S WVlpiss 29 ol 5,8 Sow wliluo
12 9 3 Olo,S WVlpsgr yx8 pl> S350 Sicw Wiyl
4 3 1 oliwilo,S OVpigi =8 pl> S50 Sicw wlisluwo
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14 7 7 RV OVlpigi )29 pl> 1,950 Siw wliyluwo
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6 3 3 Oly250) OVpigi ,x8 pl> 83,90 Siow wliyluwo
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7 3 4 Ul OVpigi ,=8 pl> S350 Sicw wlisluwo
3 2 1 Sy OVpigi =8 pl> 3,90 Sicw wlisluwo
2 0 2 Ol Oblg> 28 pls 53590 Sicew wlasLoo
1 1 0 ol Ollg=,29 pl> 3,95 Siow wliluwo
3 0 3 2939 Ollg>,=8 pl> 55,00 Sicw wliyluwo
1 0 1 Ul Olilg>,=8 pl> 5,90 Sinw wlisluwo
1 1 0 Jus)l OVl )30 5948 (siloypd S5,90 Siw wliyluwol
3 0 3 Olygi OVl )30 5948 (silopd S5,90 Sicw wliyluwo)
3 0 3 Sgo, wlwl,> OVl )30 H94isS (suloypd S350 Sicw wlayluwol
1 0 1 Oliw;es OYLuS )50 59isS (silo,pd 83,90 Siw wlayluwo
2 0 2 Ol OVl )50 ,9iS (silo,pd 83,90 Siw wlayluwo
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3 3 0 Olo,S UYL )50 595 silo,pd 83,90 Sicw wlasluwo
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1 0 1 i Olzl,3]] Ollg> oS (silo,pd S350 Sicw wliyluwol
6 3 3 olpsol Ollg> H5.isS (silo,pd S350 Sicw wliyluwol
1 0 1 ol Olg= S Csilosgd 53,9 Siw wlisluunl
1 0 1 O Ollg> ,5.isS (silo,pd S350 Sicw wliyluwol
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